34)

1/0 do/din(y

Ratio to ALEPH

=
o

1072

10—3 -

1074

0.5

206| GeV ee

*/Z (Hadronlc)
|

Rivet 3.1.10, = 3M events

I T I T | T I I I I I
| m ALEPH H
= 1 Pythia 6.428 350 =
—  ---&-- Pythia 6. 428 35 — - % -
- ¥-- Pyth|a6
= A Py 28 353 A =
-~ --0- 2 6.428 354 -
. ythla 6.428 355 A 7]
= a,-,;;f’? Pythia 6.428 356 E
- " Pythia 6.428 357 -
~ /  Pythia6.428 358 N
= /= Pythia 6.428 359 =
- = =
- ﬁi _
I o T =
g v g
- Ak y | -
- A /‘ S \@ v @/@/ﬂ{] l" -
B SN | ]
B v\ /v \ | _
oF X A ¥
- y K N \' ! _
| v ! | |
A :
L L I I L L | I L L | I
) 10 15

mcplots.cern.ch [arXiv:1306.3436]

N

0.5



	Contents
	Page 1


